PW110100-02

CITY OF RAPID CITY CONSTRUCTION CHANGE ORDER

PROJECT NAME: MALL RIDGE SUBDIVISION UTILITIES,

PROJECT NO: ST00-930

CONTRACTOR: HILLS MATLS. CO., INC

ORIGINAL CONTRACT AMOUNT: \$508,438.00

DATE: 19 OCTOBER, 00

CHANGE ORDER NO.: 2 & FINAL

LINE ITEM	DESCRIPTION	UNIT	CONTRACT OUANTITY	UNIT PRICE	EXTENDED PRICE	INSTALLED OUANTITY	INSTALLED PRICE	INCREASE/ (DECREASE)
IIENI		0.01	QUANIIIY	UNIT PRICE	PRICE	QUANTITY	PRICE	(DECREASE)
1	MOBILIZATION	LS	1	\$2,996.00	\$2,996.00	1.00	\$2,996.00	\$0.00
	CLEARING & GRUBBING, 6" +TREE	EA	16	. ,	\$1,120.00		\$280.00	(\$840.00)
	CLEARING & GRUBBING	LS	1	\$580.00	\$580.00		\$580.00	\$0.00
4	ADJUST MANHOLE RING & COVER	EA	12	\$20.00	\$240.00	12.00	\$240.00	\$0.00
5	ADJUST VALVE BOX	EA	8	\$8.50	\$68.00	8.00	\$68.00	\$0.00
6	MUCK EXCAVATION W/SUGAR ROCK	CM	200	\$43.00	\$8,600.00	0.00	\$0.00	(\$8,600.00)
	PLACE TOPSOIL	CM	518	\$16.50	\$8,547.00		\$8,547.00	\$0.00
8	SALVAGE TOPSOIL	CM	515	\$4.10	\$2,111.50	515.00	\$2,111.50	\$0.00
9	AASHTO T-180 SOIL TEST	EA	15	\$100.00	\$1,500.00	0.00	\$0.00	(\$1,500.00)
10	UNCLASSIFIED EXCAVATION	CM	2417	\$15.00	\$36,255.00	3,318.00	\$49,770.00	\$13,515.00
11	REMOVE PRESSURE REDUCING VALVE	LS	0	\$835.00	\$0.00	0.00	\$0.00	\$0.00
12	REMOVE & RESET MAILBOX	EA	72	\$35.00	\$2,520.00	72.00	\$2,520.00	\$0.00
13	REMOVE ASPHALT CONCRETE PAVEMENT	SM	0	\$2.15	\$0.00	0.00	\$0.00	\$0.00
14	REMOVE CONCRETE APPROACH PAVEMENT	SM	550	\$2.55	\$1,402.50	549.28	\$1,400.66	(\$1.84)
15	REMOVE CONCRETE CURB & GUTTER	М	2750	\$3.35	\$9,212.50	2,749.58	\$9,211.09	(\$1.41)
16	REMOVE CONCRETE SIDEWALK	SM	1986	\$3.00	\$5,958.00	2,464.02	\$7,392.06	\$1,434.06
17	GRAVEL SURFACING	MTON	100	\$26.00	\$2,600.00	160.50	\$4,173.00	\$1,573.00
18	CONCRETE "P" GUTTER, 150mm	М	515	\$38.00	\$19,570.00	645.03	\$24,511.14	\$4,941.14
19	TACK COAT	L	6515	\$0.27	\$1,759.05	3,110.00	\$839.70	(\$919.35)
20	AGGREGATE BASE COURSE	MTON	4000	\$12.00	\$48,000.00	6,118.74	\$73,424.88	\$25,424.88
21	GEOGRID/SOIL SUPPORT FABRIC	SM	4800	\$2.20	\$10,560.00	9,873.28	\$21,721.22	\$11,161.22
22	AC, CLASS G, TYPE 1	MTON	1736	\$28.00	\$48,608.00	1,735.00	\$48,580.00	(\$28.00)
23	AC, CLASS G, TYPE 2	MTON	1159	\$30.50	\$35,349.50	1,190.00	\$36,295.00	\$945.50
24	CONCRETE APPROACH PAVEMENT, 150 MM	SM	1150	\$37.00	\$42,550.00	1,150.40	\$42,564.80	\$14.80
25	CONCRETE CURB & GUTTER, TYPE B150	М	2205	\$36.00	\$79,380.00	2,205.00	\$79,380.00	\$0.00
26	CONCRETE SIDEWALK	SM	1986	\$24.70	\$49,054.20	2,464.02	\$60,861.29	\$11,807.09
27	12" EDGE DRAIN & ROCK	М	2600.47	\$11.60	\$30,165.45	2,693.29	\$31,242.16	\$1,076.71
28	600mm SLOTTED DRAIN	М	6	\$200.00	\$1,200.00	6.10	\$1,220.00	\$20.00
29	600mm CORRUGATED METAL PIPE	М	2	\$890.00	\$1,780.00		\$1,780.00	\$0.00
30	CONSTRUCTION STAKING	LS	1	\$9,000.00	\$9,000.00	1.00	\$9,000.00	\$0.00
31	SODDING	SM	5083	\$4.00	\$20,332.00		\$20,400.00	\$68.00
	RE-LANDSCAPED AREA (IN KIND)	SM	287	\$6.00	\$1,722.00		\$0.00	(\$1,722.00)
33	TRAFFIC CONTROL	LS	1	\$2,700.00	\$2,700.00	1.00	\$2,700.00	\$0.00
34	INCIDENTAL WORK	LS	1	\$150.00	\$150.00	1.00	\$150.00	\$0.00
35	MILL, SALVAGE AND PLACE ASPHALT CONCRETE	MTON	2400	\$17.50	\$42,000.00	1,883.60	\$32,963.00	(\$9,037.00)

TOTAL			\$527,590.70	\$576,922.51 \$49,331.81
C.C.O. HISTORY INCREASE/(DECREASE)			PRIOR ADJUSTED CONTRACT PR	SICE : \$527,590.70
	CCO #1	\$19,152.70	NET INCREASE/(DECREASE):	\$49,331.81
	CCO #2	\$49,331.81	ADJUSTED CONTRACT PRICE:	\$576,922.51
	PRIOR TOTAL =	\$527,590.70	CHANGE TO DATE:	
CONTRACTOR:				DATE:
ENGINEER:				DATE: 21 July, 2000
MAYOR:				DATE:
FINANCE:				DATE:
CONTRACT TIME CHANGE +/-: + 5 days NEW	CONTRACT TIME:	Days		

CITY OF RAPID CITY

CONSTRUCTION CHANGE ORDER

PROJECT NAME: MALL RIDGE SUBDIVISION UTILITIES,

PROJECT NO: ST00-930

CONTRACTOR: HILLS MATLS. CO., INC

ORIGINAL CONTRACT AMOUNT:

DATE: 19 OCTOE

\$508,438.00

0-Jan-00

CHANGE ORDER NO.: 2 & FINAL

LINE ITEM	DESCRIPTION	REASON FOR CHANGE
1	MOBILIZATION	NO CHANGE
2	CLEARING & GRUBBING, 6" +TREE	NO CHANGE
3	CLEARING & GRUBBING	NO CHANGE
4	ADJUST MANHOLE RING & COVER	NO CHANGE
5	ADJUST VALVE BOX	NO CHANGE
6	MUCK EXCAVATION W/SUGAR ROCK	NO CHANGE
7	PLACE TOPSOIL	NO CHANGE
8	SALVAGE TOPSOIL	NO CHANGE
9	AASHTO T-180 SOIL TEST	NO CHANGE
10	UNCLASSIFIED EXCAVATION	NO CHANGE
11	REMOVE PRESSURE REDUCING VALVE	DELETED - COUNCIL ORDER
12	REMOVE & RESET MAILBOX	NO CHANGE
13	REMOVE ASPHALT CONCRETE PAVEMENT	DELETED SEE ITEM 35
14	REMOVE CONCRETE APPROACH PAVEMENT	ADDITIONAL - COUNCIL ORDER
15	REMOVE CONCRETE CURB & GUTTER	ADDITIONAL - COUNCIL ORDER
16	REMOVE CONCRETE SIDEWALK	NO CHANGE
17	GRAVEL SURFACING	ADDITIONAL MATERIAL RESIDENTIAL ACCESS DURING RAINY WEATHER
18	CONCRETE "P" GUTTER, 150mm	ADDITIONAL - COUNCIL ORDER
19	TACK COAT	MEASURED QUANTITY
20	AGGREGATE BASE COURSE	DECREASED - SEE ITEM 35
21	GEOGRID/SOIL SUPPORT FABRIC	NO CHANGE
22	AC, CLASS G, TYPE 1	MEASURED QUANTITY
23	AC, CLASS G, TYPE 2	MEASURED QUANTITY
24	CONCRETE APPROACH PAVEMENT, 150 MM	ADDITIONAL - COUNCIL ORDER
25	CONCRETE CURB & GUTTER, TYPE B150	ADDITIONAL - COUNCIL ORDER
26	CONCRETE SIDEWALK	NO CHANGE

27	12" EDGE DRAIN & ROCK	NO CHANGE
28	600mm SLOTTED DRAIN	NO CHANGE
29	600mm CORRUGATED METAL PIPE	NO CHANGE
30	CONSTRUCTION STAKING	NO CHANGE
31	SODDING	NO CHANGE
32	RE-LANDSCAPED AREA (IN KIND)	NO CHANGE
33	TRAFFIC CONTROL	NO CHANGE
34	INCIDENTAL WORK	NO CHANGE
35	MILL, SALVAGE AND PLACE ASPHALT CONCRETE	NEW ITEM, REPLACES ASPHALT REMOVAL, PORTION OF BASECOURSE - RECYCLED MATERIAL ONSITE

PREPARED BY: JOE JAGODZINSKI

DATE: 21 JULY, 2000